

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Department of the Treasury

OMB No 1545-0052

Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public. ► Information about Form 990-PF and its instructions is at www.irs.gov/form990pf.

Open to Public Inspection

Internal Revenue Service For calendar year 2014, or tax year beginning 01-01-2014 , and ending 12-31-2014 A Employer identification number Name of foundation Mitchell Family Foundation 46-1311138 **B** Telephone number (see instructions) Number and street (or P O box number if mail is not delivered to street address) (903) 297-5131 **C** If exemption application is pending, check here City or town, state or province, country, and ZIP or foreign postal code White Oak, TX 75693 G Check all that apply Initial return Initial return of a former public charity D 1. Foreign organizations, check here Final return Amended return 2. Foreign organizations meeting the 85% Address change Name change test, check here and attach computation E If private foundation status was terminated Section 501(c)(3) exempt private foundation **H** Check type of organization under section 507(b)(1)(A), check here Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation **J** Accounting method **F** If the foundation is in a 60-month termination I Fair market value of all assets at end **▶** □ of year (from Part II, col. (c), under section 507(b)(1)(B), check here Other (specify) line 16)▶\$ 44,733,686 (Part I, column (d) must be on cash basis.) Part I Analysis of Revenue and Expenses (The (d) Disbursements (a) Revenue and (b) Net investment (c) Adjusted net total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a) (see for charitable expenses per books (cash basis only) Contributions, gifts, grants, etc , received (attach Check ► ✓ if the foundation is **not** required to attach 839 839 Interest on savings and temporary cash investments 976,743 976,743 Dividends and interest from securities. . Gross rents Net rental income or (loss)_ 1,642,582 Revenue Net gain or (loss) from sale of assets not on line 10 Gross sales price for all assets on line 6a 33,546,730 Capital gain net income (from Part IV, line 2) . 1.642.582 Net short-term capital gain . . Income modifications . . 10a Gross sales less returns and allowances Less Cost of goods sold . . . Gross profit or (loss) (attach schedule) 3.486 Other income (attach schedule) 匆 11 12 Total. Add lines 1 through 11 . . 2,623,650 2,623,650 13 Compensation of officers, directors, trustees, etc 14 Other employee salaries and wages . . Operating and Administrative Expenses 15 Pension plans, employee benefits . . Legal fees (attach schedule). . . 16a Accounting fees (attach schedule). 5.140 5.140 267,600 267,600 Other professional fees (attach schedule) 匆 **17** 包 43.940 3,940 Taxes (attach schedule) (see instructions) Depreciation (attach schedule) and depletion . 19 20 Travel, conferences, and meetings. 21 22 Printing and publications Other expenses (attach schedule). 9 581 266 Total operating and administrative expenses. 24 Add lines 13 through 23 317,261 276,946 0 25 Contributions, gifts, grants paid. . . . 1,750,000 1,750,000 26 Total expenses and disbursements. Add lines 24 and 1,750,000 2,067,261 276,946 25 27 Subtract line 26 from line 12 Excess of revenue over expenses and disbursements 556.389 2,346,704 Net investment income (if negative, enter -0-) Adjusted net income (If negative, enter -0-)

Da.	rt II	Ralance Sheets Attached schedules and amounts in the description column	Beginning of year	End o	f year
•		Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash—non-interest-bearing	626,369		
	2	Savings and temporary cash investments	3,203,145	1,292,189	1,292,189
	3	Accounts receivable			
		Less allowance for doubtful accounts -			
	4	Pledges receivable 🟲			
		Less allowance for doubtful accounts 🕨			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach schedule) 🕨			
		Less allowance for doubtful accounts 🕨			
2	8	Inventories for sale or use			
sets	9	Prepaid expenses and deferred charges			
ЯS	10a	$Investments-U\ S\ and\ state\ government\ obligations\ (attach\ schedule)$			
	b	Investments—corporate stock (attach schedule)	16,144,908	21,728,689	23,690,634
	С	Investments—corporate bonds (attach schedule)			
	11	Investments—land, buildings, and equipment basis 🕨			
		Less accumulated depreciation (attach schedule) ▶			
	12	Investments—mortgage loans			
	13	Investments—other (attach schedule)	21,096,573	18,677,548	19,708,661
	14	Land, buildings, and equipment basis			
		Less accumulated depreciation (attach schedule)			
	15	Other assets (describe 🟲)	% 4,325	28,206	24,196
	16	Total assets (to be completed by all filers—see the			
		instructions Also, see page 1, item I)	41,075,320	41,744,638	44,733,686
	17	Accounts payable and accrued expenses			
	18	Grants payable			
φ	19	Deferred revenue	193,436	306,365	
abilities	20	Loans from officers, directors, trustees, and other disqualified persons			
ab	21	Mortgages and other notes payable (attach schedule)			
	22	Other liabilities (describe			
	23	Total liabilities (add lines 17 through 22)	193,436	306,365	
		Foundations that follow SFAS 117, check here		·	
es		and complete lines 24 through 26 and lines 30 and 31.			
inc	24	Unrestricted	40,881,884	41,438,273	
<u> </u>		Temporarily restricted			
O E	26	Permanently restricted			
n		Foundations that do not follow SFAS 117, check here			
or Fund Balances		and complete lines 27 through 31.			
	27	Capital stock, trust principal, or current funds			
set	28	Paid-in or capital surplus, or land, bldg , and equipment fund			
Assets	29	Retained earnings, accumulated income, endowment, or other funds			
Net	30	Total net assets or fund balances (see instructions)	40,881,884	41,438,273	
Z	31	Total liabilities and net assets/fund balances (see instructions)	41,075,320	41,744,638	
Da	rt III		11,073,323	11,7 11,000	
			(a) line 20 (aroo I I	
1		Total net assets or fund balances at beginning of year—Part II, column with end-of-year figure reported on prior year's return)	(a), line 30 (must a		40,881,884
2					556,389
2		•		 	230,369
3 ⊿		Other increases not included in line 2 (itemize) Add lines 1, 2, and 3			41,438,273
4 5				5	71,730,2/3
5 6		Decreases not included in line 2 (itemize) ►	Part II column (h) I	_	41,438,273
•		i otal het assets of fund balances at end of year (line 4 fillings line 5)—i	arcii, colullii (D), I		TI,TJU,Z/J

Net short-term capital gain or (loss) as defined in sections 1222(5) and (6) If gain, also enter in Part I, line 8, column (c) (see instructions) If (loss), enter -0- in Part I, line 8		the kınd(s) of property sold (e g , re louse, or common stock, 200 shs M	ear estate,	(b) How acquired P—Purchase D—Donation	(c) Date acquired (mo , day, yr)	(d) Date sold (mo , day, yr)
c d d (e) Gross sales price (f) Depreciation allowed (g) Cost or other basis plus expense of sale (e) plus (f) minus (g) (a) by the foundation on 12/31/69 (a) plus (f) minus (g) (b) c (b) plus (f) minus (g) (g) plus (f) minus (g) (g) plus (g) plu	1a Capital Gain Dividen	ds				
(e) Gross sales proce (f) Depreciation allowed (g) Cost or other basis plus expense of sale (e) plus (f) minus (g) b	b					
(e) Gross sales price (f) Depreciation allowed (g) Cost or other basis (e) plus (f) minus (g) a	С					
(e) Gross sales price (f) Depreciation allowed (or allowable) (p) Cost or other basis (e) plus (f) minus (g) a b Camplete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (d) Gains (Col. (h) gain minus (g) Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (d) Gains (Col. (h) gain minus (g) Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (d) Gains (Col. (h) gain minus (g) (ii) FM V as of 12/31/69 (j) Adjusted basis (k) Excess of col. (i) col. (h) gain minus (g) a of 12/31/69 (v) Excess of col. (i) col. (h) gain minus (g) Col. (k), but not less than -0-years (g) asset (g) (h) figure (g)	d					
(e) Gross sales price (f) Depreciation allowed (or allowable) (p) Cost or other basis (e) plus (f) minus (g) a	e					
(e) plus (f) minus (g) b 226,1 c d Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (i) FM V as of 12/31/69 (j) A djusted basis of 12/31/69 c d d c Capital gain net income or (net capital loss) If gain, also enter in Part I, line 7 3 Net short-term capital gain or (loss) as defined in sections 1222(5) and (6) If gain, also enter in Part I, line 8, column (c) (see instructions) 1f (loss), enter -0- in Part I, line 8 Part V Qualification Under Section 4940(e) for Reduced Tax on Net Investment Income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income) f section 4940(d)(2) applies, leave this part blank Was the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? T Yes F N 1 Enter the appropriate amount in each column for each year, see instructions before making any entres (a) 2013 Sespend years Calendar year (calendar year (calendar year (cat year beginning in)) 2013 Sespend years Calendar year (calendar year (cat year beginning in)) 2013 Sespend years Calendar year (cat year beginning in) 2010		(f) Depreciation allower	d (a) Cost	or other basis	(h) Gain	or (loss)
b 226,1 c d			1 1-7			
c d d						226442
d e Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (i) FM V as of 12/31/69 (ii) Adjusted basis as of 12/31/69 (iii) Adjusted basis over coli (j), if any over coli (k), but not less than -0-3 over coli (j), if any over coli (j), if any over coli (k), but not less than -0-3 over coli (j), if any over coli (ji), if any coli (ki), but not less than over coli (ki), but not less than over coli (ki), but not less than over coli (ji), if any coli (ki), but not less than over coli (ji), if any coli (ki), but not less than over coli (ki), but not less than over coli (ki), but not less than over coll (ki), but not less than over coll (ki), an						226,142
Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (1) Gains (Col. (h) gain minus (I) FM V as of 12/31/69 (3) Adjusted basis as of 12/31/69 (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis over col. (j), if any col. (k), but not less than -0-) (as of 12/31/69 (b) Adjusted basis of 12/31/69	С					
Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (i) F M V as of 12/31/69 (j) A djusted basis as of 12/31/69 a of 12/31/69 c over col (j), if any over col (l) as of 12/31/69 c over col (l), if any over col (l) as of 12/31/69 c over col (l), if any over col (l) as of 12/31/69 c over col (l), if any over col (l) as of 12/31/69 c over col (l), if any over col (l) over col (l), if any over col (l), i	d					
(i) F M V as of 12/31/69 (i) Adjusted basis as of 12/31/69 (ii) Adjusted basis as of 12/31/69 (iv) Excess of col (i) over col (j), if any over col (join (jo	e					
a b c c c d d c c c c c c c c c c c c c c	Complete only for assets	showing gain in column (h) and owne				
Capital gain net income or (net capital loss) If gain, also enter in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If gain, also enter in Part I, line 8 If gain, also enter in Part I, line 8 If gain, also enter in Part I, line 8, column (c) (see instructions) If (loss), enter -0 - in Part I, line 8 If gain, also enter in Part I, line 8, column (c) (see instructions) If (loss), enter -0 - in Part I, line 8 If gain, also enter in Part I, line 8, column (c) (see instructions) If (loss), enter -0 - in Part I, line 8 If gain, also enter in Part I, line 7 If gain, als enter in Part I, line 7 If gain, als enter in Part I, line 7 If gain, als enter in Part I, line	(i) F M V as of 12/31/69					
C d d e	a					
The section 4940(d)(2) applies, leave this part blank Was the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? The section 4940(d)(2) applies, leave this part blank Was the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? The section 4940(d)(2) applies, leave this part blank Was the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? The section 4940(d)(2) applies, leave this part blank Was the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? The section 4940(d)(2) applies, leave this part blank Was the foundation does not qualify under section 4940(e) Do not complete this part 1 Enter the appropriate amount in each column for each year, see instructions before making any entries (a) Base period years Calendar year (or tax year beginning in) Adjusted qualifying distributions (b) Adjusted qualifying distributions (c) Net value of noncharitable-use assets (col (b) divided by col (c)) 2013 Total of line 1, column (d). 2010 2010 2011 2010 2011 2010 2010 2011 2011 2010 2011 2010 2011 2010 2011 2010 2011 2011 2010 2011 2011 2010 2012 3 Average distribution ratio for the 5-year base period—divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years 3 0010 4 Enter the net value of noncharitable-use assets for 2014 from Part X, line 5. 4 4 43,5566, 5 446,69 6 Enter 1% of net investment income (1% of Part I, line 27b). 6 6 223,4 7 Add lines 5 and 6. 7 4 470,4	b					
The section 4940(d)(2) applies, leave this part blank Was the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? The section 4940(d)(2) applies, leave this part blank Was the foundation does not qualify under section 4940(e) Do not complete this part Then the appropriate amount in each column for each year, see instructions before making any entries (a) Base pend years Calendar year (or tax year beginning in) 2	С					
Capital gain net income or (net capital loss) If gain, also enter in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 8						
2 Capital gain net income or (net capital loss) If gain, also enter in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If (loss), enter -0 - in Part I, line 7 If gain, also enter in Part I, line 8, column (c) (see instructions) If (loss), enter -0 - in Part I, line 8 If gain, also enter in Part I, line 8, column (c) (see instructions) If (loss), enter -0 - in Part I, line 8 Part V Qualification Under Section 4940(e) for Reduced Tax on Net Investment Income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income For optional use by domestic private foundation subject to the section 4940(a) tax on net investment income For optional use by domestic private foundation apple to the section 4940(a) tax on net investment income For optional use by domestic private foundations apple to the section 4940(a) tax on net investment income For optional use by domestic private foundation apple to the section 4940(a) tax on net investment income For optional use by domestic private foundation apple to the section 4940(a) tax on net investment income For optional use by domestic private foundation apple to the section 4940(a) tax on net investment income For optional use by domestic private foundation apple to the section 4940(a) tax on net investment income For optional use by domestic private foundation apple to the section 4940(a) tax on net investment income For optional us						
If gain, also enter in Part I, line 8	, ,	me or (net capital loss)	If (loss), enter -0 - ı		2	1,642,582
Part V Qualification Under Section 4940(e) for Reduced Tax on Net Investment Income For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income) f section 4940(d)(2) applies, leave this part blank Vas the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? Yes V N f 'Yes,' the foundation does not qualify under section 4940(e) Do not complete this part 1 Enter the appropriate amount in each column for each year, see instructions before making any entries (a) Base penod years Calendar year (or tax year beginning in) 2013	If gaın, also enter ın	- , ,		ter -0 -]		
For optional use by domestic private foundations subject to the section 4940(a) tax on net investment income) f section 4940(d)(2) applies, leave this part blank Vas the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? Tenter the appropriate amount in each column for each year, see instructions before making any entries Column Column			· · · · ·	· ·]	1 - 1	
Feection 4940(d)(2) applies, leave this part blank Vas the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? Fives, the foundation does not qualify under section 4940(e). Do not complete this part 1 Enter the appropriate amount in each column for each year, see instructions before making any entries (a) Base pend years Calendar year (or tax year beginning in) Adjusted qualifying distributions 858,976 Adjusted qualifying distributions 858,976 42,360,023 0020 2012 9,719 39,463,977 0000 2011 2010 2009 2 Total of line 1, column (d)						
Vas the foundation liable for the section 4942 tax on the distributable amount of any year in the base period? Yes Note for Yes," the foundation does not qualify under section 4940(e). Do not complete this part 1 Enter the appropriate amount in each column for each year, see instructions before making any entries. (a) Base peniod years Calendar year (or tax year beginning in) 2013 858,976 Adjusted qualifying distributions 858,976 42,360,023 2012 9,719 39,463,977 00002 2010 2010 2010 2010 2010 2010 2010 2010 2010 2010 2010 2010 4 Verage distribution ratio for the 5-year base period—divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years 4 Enter the net value of noncharitable-use assets for 2014 from Part X, line 5	,	•	ection 4940(a) tax o	n net investment	income)	
### Time of the foundation does not qualify under section 4940(e) Do not complete this part ### I Enter the appropriate amount in each column for each year, see instructions before making any entries #### (a) Base period years Calendar year (or tax year beginning in) ### Adjusted qualifying distributions ### Add lines 5 and 6	f section 4940(d)(2) applies,	leave this part blank				
1 Enter the appropriate amount in each column for each year, see instructions before making any entries (a) Base period years Calendar year (or tax year beginning in) 2013 858,976 42,360,023 2012 9,719 39,463,977 00002 2010 2010 2009 2 Total of line 1, column (d)					eriod?	┌ Yes ┌ No
Base period years Calendar year (or tax year beginning in) Adjusted qualifying distributions 858,976 42,360,023 2012 9,719 39,463,977 2010 2010 2009 Total of line 1, column (d)	•				ries	
Adjusted qualifying distributions Net value of noncharitable-use assets (col (b) divided by col (c)) 2013 858,976 42,360,023 0 0202 2012 9,719 39,463,977 0 00002 2010 2010 2009 2 Total of line 1, column (d)	(a)	(b)	(6)			
2013 858,976 42,360,023 0 0 20 20 20 20 12 9,719 39,463,977 0 0 0 0 0 20 20 20 11 20 10 20 0 0 2				able-use assets		
2012 9,719 39,463,977 0 0 0 0 2 2011 2010 2009 2 2 Total of line 1, column (d)		858.976		42,360,023	(cor (b) divided	0 02028
2010 2009 2 Total of line 1, column (d)		,				0 00025
2009 2 Total of line 1, column (d)		,				
Total of line 1, column (d)	2010					
A verage distribution ratio for the 5-year base period—divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years	2009					
the number of years the foundation has been in existence if less than 5 years 3 0 0 1 0 4 Enter the net value of noncharitable-use assets for 2014 from Part X, line 5 4 43,556,8 5 Multiply line 4 by line 3	2 Total of line 1, colum	ın (d)			2	0 02052
## Enter the net value of noncharitable-use assets for 2014 from Part X, line 5					3	0 01026
5 Multiply line 4 by line 3. 5 446,9 6 Enter 1% of net investment income (1% of Part I, line 27b). 6 23,4 7 Add lines 5 and 6. 7 470,4					_	43,556,854
6 Enter 1% of net investment income (1% of Part I, line 27b)			•		- 	446,980
7 Add lines 5 and 6				<u> </u>		•
					-	
6 Lincer qualifying discribations from Fait Att, fille 4						
If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate. See				<u> </u>	_	

	990-PF (2014) Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see page 18 of the inst			age 4
		ructio	ns)	
1a	on line 1			
	Date of ruling or determination letter (attach copy of letter if necessary-see ; instructions)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check		2.	3,467
	here Fand enter 1% of Part I, line 27b			
С	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12, col (b)			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			
3	Add lines 1 and 2		2.	3,467
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0		2:	3,467
6	C redits/P ayments			-,
а	2014 estimated tax payments and 2013 overpayment credited to 2014 6a 56,976			
b	Exempt foreign organizations—tax withheld at source 6b			
c	Tax paid with application for extension of time to file (Form 8868)6c			
d	Backup withholding erroneously withheld 6d			
7	Total credits and payments Add lines 6a through 6d		56	6,976
8	Enter any penalty for underpayment of estimated tax. Check here 🔽 If Form 2220 is attached. 🔞 🔒			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid • 10		3.3	3,509
11	Enter the amount of line 10 to be Credited to 2015 estimated tax 33,509 Refunded 11			
	t VII-A Statements Regarding Activities			
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did		Yes	No
_	It participate or intervene in any political campaign?	1a		No
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see Instructions	46		Na
	for definition)?	1b		No
	published or distributed by the foundation in connection with the activities.			
c	Did the foundation file Form 1120-POL for this year?	1c		No
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year			
	(1) On the foundation ▶ \$ (2) On foundation managers ▶ \$			
e	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed			
	on foundation managers 🕨 \$			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		No
	If "Yes," attach a detailed description of the activities.			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles			
	of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		No
4 a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		No
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b		No
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		No
_	If "Yes," attach the statement required by General Instruction T.			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions			
	that conflict with the state law remain in the governing instrument?	6	Yes	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c),			
	and Part XV.	. 7	Yes	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions) TX			
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney			
	General (or designate) of each state as required by General Instruction G? If "No," attach explanation .	8b	Yes	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3)			
	or 4942(J)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)?			
	If "Yes," complete Part XIV	9		No
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names			
	and addresses.	10		No

11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		No
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had			
	advisory privileges? If "Yes," attach statement (see instructions)	12		No
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Yes	
	Website address ►N/A			
14	The books are in care of ▶DANIEL MITCHELL Telephone no ▶(903)	297-	5131	
	Located at ► 1907 E OLD HWY 80 WHITE OAK TX ZIP+4 ► 75693			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 —Check here			<u> </u>
13	and enter the amount of tax-exempt interest received or accrued during the year		,	,
	<u> </u>		1	I
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over	1	Yes	No
	a bank, securities, or other financial account in a foreign country?	16		No
	See instructions for exceptions and filing requirements for FinCEN Form 114, Report of Foreign Bank and Financial Accounts (FBAR) If "Yes", enter the name of the foreign country			
Pai	rt VII-B Statements Regarding Activities for Which Form 4720 May Be Required		ı ı	
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly)			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes V No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes V No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes Vo			
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No" If the foundation agreed to make a grant to or to employ the official for a period			
	after termination of government service, if terminating within 90 days) Yes V No			
ь	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		No
	Organizations relying on a current notice regarding disaster assistance check here			140
_	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts,			
	that were not corrected before the first day of the tax year beginning in 2014?	1c		No
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			110
-	operating foundation defined in section 4942(1)(3) or 4942(1)(5))			
а	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d			
	and 6e, Part XIII) for tax year(s) beginning before 2014?			
	If "Yes," list the years 🕨 20 , 20 , 20 , 20			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2)			
	to all years listed, answer "No" and attach statement—see instructions)	2b		No
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
	► 20, 20, 20			
За	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at			
	any time during the year?			
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation			
	or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved			
	by the Commissioner under section $4943(c)(7)$) to dispose of holdings acquired by gift or bequest, or (3)			
	the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine			
	ıf the foundation had excess business holdings in 2014.).	3b		No
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		No
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		No

Pa	rt VII-B	Statements Rega	rdii	ng Activities for	W	nich Form 4720	May	Be Required (cont	inue	d)	
5a	During the	year did the foundatio	n pay	or incur any amoun	t to						
	(1) Carry	on propaganda, or othe	rwise	attempt to influenc	e leg	ıslatıon (section 494	45(e	:))?	- No		
	(2) Influe	nce the outcome of any	spec	ific public election (see	section 4955), or to	car	ry			
		ectly or indirectly, any							- No		
		le a grant to an individu		_				┌ Yes ┌	- No		
		le a grant to an organiza					scrit	ped			
								T Yes 🖟	- No		
		le for any purpose other									
									- No		
ь								exceptions described in			
								instructions)?		5b	No
									_		
С	=	werıs "Yes" to questioi		= =							
_		•		**		· ·		T Yes 🕟	- No		
		ttach the statement requ					-	,,			
6a		undation, during the yea					nrei	milims on			
ou		I benefit contract?							- No		
ь	•							benefit contract?		6b	No
		6b, file Form 8870.	11, pu	y premiums, unceer	, 0	manecary, on a perso	, iiui	benefit contract.	•		
7a		ne during the tax year, \	vac t	he foundation a parts	v to :	a prohibited tay shel	tar t	ransaction? TYes F	- No		
	•			•		•		the transaction?		7b	No
								n Managers, Highly			
Pa	3 38 VA	and Contractors	· Oi	incers, Directors	,	ustees, i ouilda	LIO	ii Managers, mgmy	raiu	гшр	loyees,
1		icers, directors, trustee	s, fo	undation managers a	nd t	heir compensation (see i	nstructions).			
				Title, and average		c) Compensation		(d) Contributions to	(e) F	xnens	e account,
	(a) Nar	ne and address		hours per week evoted to position		If not paid, enter -0-)		mployee benefit plans I deferred compensation			owances
DANT	EL MITCHELL		_	S,TRS,DIR		0	anc	deletted compensation			
	30 X 1095		4 00			Ū					
	TE OAK,T	X 75693									
JUDY	MITCHELL		VP,	SECY,DIR		0					
PO	30 X 1095		2 00)							
	TE OAK,T	75693									
DAVII	MITCHELL			ECTOR		0					
	30 X 1095	. ==	1 00)							
	TE OAK,T		<u> </u>		<u>. </u>					NONE !	•
	Compensat	ion of five nignest-paid	ı emp	loyees (other than	tnos	e included on line 1– 	see	instructions). If none, each (d) Contributions to	nter "i	NONE."	
(a)	Name and	address of each emplo	yee	(b) Title, and aver				employee benefit	(e) E	Expens	e account,
` .		nore than \$50,000	,	hours per week devoted to positi		(c) Compensatio	n	plans and deferred	ot	her all	owances
				devoted to positi				compensation			
NON	l E										
										<u> </u>	
Taka		other employees paid		+ = 0 000		•		· .			

Information About Officers, Directors, Truste	es. Foundation Managers. His	page / hlv Paid Employees.
and Contractors (continued)		
3 Five highest-paid independent contractors for professional services (see instructions). If none, enter "NON	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
Total number of others receiving over \$50,000 for professional services.		<u> </u>
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include rele		r of Expenses
organizations and other beneficiaries served, conferences convened, research papers produ	ced, etc	Lxpelises
1		
2		
3		
Power IV D. Common of Program Polated Investments (and instructions)	
Part IX-B Summary of Program-Related Investments (some part in the street of the two largest program-related investments made by the foundation during the street of the street investment of the street of the stre		A mount
1	the tax year on lines I and E	Amount
-		
2		
-		
All other program-related investments See instructions		
3		
Total. Add lines 1 through 3		•

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations. see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc. 1 purposes 1a 42.569.375 1h 1.626.585 1c 24.196 1d 44.220.156 Reduction claimed for blockage or other factors reported on lines 1a and 1e 2 2 3 3 Subtract line 2 from line 1d. 44.220.156 Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see 4 663.302 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V. line 4. 5 43.556.854 5 2,177,843 **Distributable Amount** (see instructions) (Section 4942(1)(3) and (1)(5) private operating foundations and Part XT certain foreign organizations check here $\blacktriangleright \Gamma$ and do not complete this part.) 1 2,177,843 Tax on investment income for 2014 from Part VI, line 5. 2a Income tax for 2014 (This does not include the tax from Part VI). . . 23.467 2c 3 3 2.154.376 4 4 5 5 2,154,376 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1. . . 7 7 2.154.376 Part XIII Oualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes 1 Expenses, contributions, gifts, etc —total from Part I, column (d), line 26. 1a 1.750.000 1b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc. 2 2 3 Amounts set aside for specific charitable projects that satisfy the 3a 3b 4 Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4 1,750,000 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 23,467 1,726,533 Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for

the section 4940(e) reduction of tax in those years

	olidistributed fricollie (see liisti	(a) Corpus	(b) Years prior to 2013	(c) 2013	(d)
1	Distributable amount for 2014 from Part XI, line 7	'	·		2,154,376
	Undistributed income, if any, as of the end of 2014				
	Enter amount for 2013 only			1,358,903	
	Total for prior years 20				
	Excess distributions carryover, if any, to 2014				
	From 2009				
b	From 2010				
c	From 2011				
d	From 2012				
е	From 2013				
f	Total of lines 3a through e				
4	Qualifying distributions for 2014 from Part				
	XII, line 4 🕨 \$				
а	Applied to 2013, but not more than line 2a			1,358,903	
b	Applied to undistributed income of prior years (Election required—see instructions)				
c	Treated as distributions out of corpus (Election required—see instructions)		0		
d	Applied to 2014 distributable amount				391,097
е	Remaining amount distributed out of corpus				
5	Excess distributions carryover applied to 2014				
	(If an amount appears in column (d), the				
	same amount must be shown ın column (a).)				
6	Enter the net total of each column as indicated below:				
а	Corpus Add lines 3f, 4c, and 4e Subtract line 5				
b	Prior years' undistributed income Subtract line 4b from line 2b				
C	Enter the amount of prior years' undistributed				
	income for which a notice of deficiency has				
	been issued, or on which the section 4942(a) tax has been previously assessed.				
d	Subtract line 6c from line 6b Taxable amount				
	—see instructions				
е	Undistributed income for 2013 Subtract line				
	4a from line 2a Taxable amount—see				
_	instructions				
f	Undistributed income for 2014 Subtract lines 4d and 5 from line 1 This amount must				
	be distributed in 2015				1,763,279
7	Amounts treated as distributions out of				
	corpus to satisfy requirements imposed by				
	section 170(b)(1)(F) or 4942(g)(3) (Election may				
	be required - see instructions)				
8	Excess distributions carryover from 2009 not applied on line 5 or line 7 (see instructions)				
9	Excess distributions carryover to 2015.				
_	Subtract lines 7 and 8 from line 6a		<u> </u>		
10	Analysis of line 9				
а	Excess from 2010				
b	Excess from 2011				
	Excess from 2012				
	Excess from 2013				
е	Excess from 2014				

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other

c Any submission deadlines

factors

Form **990-PF** (2014)

3 Grants and Contributions Paid		proved for F	uture Payment	
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	A mount
Name and address (home or business)	or substantial contributor	recipient	Contribution	
a Paid during the year See Additional Data Table	or substantial contributor	recipient		
Total				1,750,000

	ng Activitie	s			Page 1 2
nter gross amounts unless otherwise indicated	Unrelated bu	ısıness ıncome	Excluded by section	512, 513, or 514	(e)
1 Program service revenue	(a) Business code	(b) A mount	(c) Exclusion code	(d) A mount	Related or exemp function income (See instructions)
a					matructions y
ь					
c					
e					
f					
g Fees and contracts from government agencies 2 Membership dues and assessments					
Interest on savings and temporary cash investments			14	839	
1 Dividends and interest from securities 5 Net rental income or (loss) from real estate			14	976,743	
a Debt-financed property					
b Not debt-financed property					
Net rental income or (loss) from personal property					
7 Other investment income			14	968	
Gain or (loss) from sales of assets other than inventory					
Net income or (loss) from special events			18	1,642,582	
Gross profit or (loss) from sales of inventory					
. Other revenue a K-1 Income - Oak Tree Cap			14	2,518	
b				2,010	
с					
d e					
Subtotal Add columns (b), (d), and (e).				2,623,650	
•			1	3	2,623,650
(See worksheet in line 13 instructions to verify ca	lculations)				
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the second seco	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify call art XVI-B Relationship of Activities to Explain below how each activity for which the accomplishment of the foundation's feet accomplishment.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify call art XVI-B Relationship of Activities to Explain below how each activity for which the accomplishment of the foundation's feet accomplishment.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for which the accomplishment of the foundation's formula to the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for which the accomplishment of the foundation's formula to the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
(See worksheet in line 13 instructions to verify cart XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's formula to the foundation.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to
Part XVI-B Relationship of Activities to Explain below how each activity for whice the accomplishment of the foundation's activities.	ilculations) the Accomp h income is rep	olishment of I	Exempt Purposo (e) of Part XVI-A co	es entributed importa	ntly to

Form 990-P	F(2014)										Рa	ge 13
Part XVI	II Information R Noncharitable					action	ns and I	Relationships	With			
section !	organization directly or 1 501(c) of the Code (oth	ındırectly e	ngage	ın any of	the following wit						Yes	No
organıza												
	rs from the reporting fou											
	sh									1a(1)		No
	erassets									1a(2)		No
	ansactions			-	_					41.743		
	es of assets to a noncha											No
	chases of assets from a											No No
	tal of facilities, equipme									1b(3)		No
	mbursement arrangeme ns or loan guarantees.									1b(5)		No
	ormance of services or r									1b(6)		No
	of facilities, equipment,									⊢ <u>`</u> ´		No
d If the an of the go	swer to any of the above ods, other assets, or se ansaction or sharing arr	e is "Yes," ervices give rangement,	compl en by t show	ete the fol he reporti in column	llowing schedule ng foundation I	Colum f the fou the goo	nn (b) sho undation r ods, other	uld always show t eceived less than assets, or servic	the fair ma fair mark es receive	rket va et value ed	1	
(a) Line No	(b) Amount involved	(C) Name (or nonci	iantable exe	empt organization	(a)	Description	of transfers, transacti	ons, and sna	aring arra	ngemer	its
-												
describe	undation directly or indiction of the distribution of the distribu	he Code (o schedule		an sectio		ın sectı	-		tion of relati	. 厂 Y€	s F	, No
the	der penalties of perjury, e best of my knowledge a ormation of which prepa *****	and belief, i rer has any	ıt ıs tru	ie, correc			*****		n taxpaye May the return		sed on	all
	Signature of officer or t	rustee			Date		Title			tr)? 🔽 <u>\</u>	∕es	No
	Print/Type preparer's Dirk D Coleman CP		Prepa	rer's Sıgn	ature	Date		Check if self- employed ►	PTIN P	002908	389	
Paid Preparei Use		CO PC				1		Firm's EIN ►				
Only	Firm's address ► PO BOX 5486 LON	GVIEW, TX	7560	085486				Phone no (903)758-073	34		

Form 990PF Part XV Line 1a - List any managers of the foundation who have contributed more than 2% of the total contributions received by the foundation before the close of any tax year (but only if they have contributed more than \$5,000).

DAI	NIFI	MITCHELL	

JUDY MITCHELL

Form 990PF Part XV Line 3 - Grants and Contributions Paid During the Year or Approved for Future Payment

Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	A mount
Name and address (home or business)	any foundation manager or substantial contributor	recipient		
a Paid during the year				
INSTITUTE FOR CREATION RESEARCH PO BOX 59029 DALLAS,TX 75229	None	PC	RESEARCH SCIENTIFIC EVIDENCE FOR CREATION	100,000
CEF OF NORTHEAST TEXAS PO BOX 4075 LONGVIEW,TX 75606	None	PC	CHRISTIAN EVANGELISM - CHILDREN	50,000
COACHES OUTREACH 1720 REGAL ROW STE 152 DALLAS,TX 75235	None	PC	RELIGIOUS TRAINING AND DISCIPLESHIP FOR COACHES	100,000
MARS HILL PRODUCTIONS 4711 LEXINGTON BOULEVARD MISSOURI CITY,TX 77459	None	PC	CHRISTIAN EVANGELISM THROUGH MEDIA	100,000
HIWAY 80 RESCUE MISSION PO BOX 3223 LONGVIEW,TX 75606	None	PC	ASSISTANCE FOR THE HOMELESS	50,000
FOREST GLEN CAMP & RETREAT CENTER 34 FOREST GLEN HUNTSVILLE,TX 77340	None	PC	CHRISTIAN EVANGELISM - YOUTH CAMP	100,000
FELLOWSHIP BIBLE CHURCH PO BOX 9340 LONGVIEW,TX 75608	NONE	PC	CHRISTIAN EVANGELISM THROUGH CONSTRUCTION OF NEW FACILITIES OF CHURCH	750,000
WHITE OAK COMMUNITY CHURCH 1501 N WHITE OAK ROAD WHITE OAK,TX 75693	None	PC	CHRISTIAN EVANGELISM	500,000
Total				1,750,000

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

Department of the Treasury

Internal Revenue Service (99)

DLN: 93491198007055

OMB No 1545-0172

Depreciation and Amortization (Including Information on Listed Property)

► Attach to your tax return.

		Information ab	out Form 4562 and its sep	oarate instruction	ıs is at <u>www.i<i>rs</i></u>	.gov/form45	<u>62.</u>	Sequence No 179
	e(s) shown on return			or activity to which	this form relates		Id	lentifying number
Mitc	hell Family Foundatior	١	Form 990	0/990-PF			4 6	6-1311138
Pa	rt I Election	To Expense (Certain Property Ur	nder Section	179			
			sted property, comple			olete Part I.		
1	Maximum amount (se	ee instructions)					1	
2	Total cost of section	179 property p	laced in service (see ins	tructions) · ·			2	
3	Threshold cost of se	ction 179 prope	rty before reduction in lir	nıtatıon (see ıns	tructions) •		3	
4	Reduction in limitation	on Subtract line	3 from line 2 If zero or l	ess, enter -0-			4	
5	Dollar limitation for t	ax year Subtrac	t line 4 from line 1 If ze	ro or less, enter	-0- If married	filing		
	separately, see instr	uctions					5	
							•	
6	(a)	Description of pr	operty	(b) Cost (b)		(c) Elected	cost	
		<u> </u>	· ,	on	ly)			
7	Listed property Enti	or the amount fro	om line 29		. 7			┦
							8	<u>.</u> 1
8		•	operty Add amounts in c				<u> </u>	
9			er of line 5 or line 8 • •				9	
10			om line 13 of your 2013				10	
11	Business income lim	itation Enter the	e smaller of business inc	ome (not less th	nan zero) or line	e 5 (see		
	instructions) •						11	
			l lines 9 and 10, but do r		_		12	ļ
			015 Add lines 9 and 10,		.▶ 13			
			pelow for listed proper					
			Allowance and Othe				propei I	rty) (See instructions) I
14			ialified property (other th	ian listed proper	ty) placed in s	ervice during	١	
	the tax year (see ins	•					14	
15							15	
16							16	
Par	MACRS De	preciation (I	Oo not include listed		<u>e instruction</u>	s.)		
17	MACDS dadustions f	for acceta place		ection A	2014		17	
			d in service in tax years					
18			ts placed in service duri			_		
	Soction R—Acc	ote Placed in	Service During 20	14 Tay Yaar		. ► I	2506	intion System
	Section B-ASS		(c) Basis for	TA TAX TEAT			JI ECI	System
	-) Classification of	(b) Month and		(d) December				(m)Dammaalatian
(;	a) Classification of property	year placed in	(business/investment	(d) Recovery period	(e) Convention	on (f) Meth	nod	(g)Depreciation deduction
	property	service	use	period				deddetion
102	3-year property		only—see instructions)			+		
	5-year property							
	7-year property							
	10-year property							
	15-year property							
	20-year property							
	25-year property	1		25 yrs		S/L		
h l	Residential rental			27 5 yrs	ММ	S/L		
	oroperty			27 5 yrs	ММ	S/L		
iΝ	Ionresidential real			39 yrs	ММ	S/L		
ı	property				ММ	S/L		
_		n C—Assets Plac	ced in Service During 201	4 Tax Year Using	g the Alternati		on Sys	tem
	Class life	-		ļ		S/L		
	12-year	-		12 yrs		S/L		
	10-year	(00 5 15 5 15 15 15 15 15 15 15 15 15 15 15	tions \	40 yrs	<u>MM</u>	S/L		
		y (see instruc						1
	isted property Enter						21	
22 1			14 through 17, lines 19					
		-	our return Partnerships	•		ıctıons • •	22	
	for assets shown abov portion of the basis att		service during the currer tion 263A costs .	nt year, enter the	. 23			

Form 4562 (2014) Part V Listed Property (Include automobiles, certain other vehicles, certain aircraft, certain computers, and property used for entertainment, recreation, or amusement.) Note: For any vehicle for which you are using the standard mileage rate or deducting lease expense, complete **only** 24a, 24b, columns (a) through (c) of Section A, all of Section B, and Section C if applicable.

24a Do you have evide		the business/inv estment						b If "Yes,"						
(a) Type of property (list vehicles first)	(b) Date placed in service	investment Cost of	d) or other asis	er (e) Basis for depreciation (business/investment use only)		nent K	(f) ecovery period	very Method/		(h) Depreciation/ deduction			(i) Elected section 179 cost	
25Special depreciation allo			in service	during the	tax year	and use	ed more		_					
50% in a qualified bus 26 Property used mor	•	•						2	<u> </u>					
20 Froperty used mor	Tilan 50 70	%	s use									\top		
		%										\bot		
27 Property used 50%	h or loss in a	%												
27 Floperty used 50%	T or less in a	%	· ·					S/L -				\top		
		%						S/L -				コ		
38 Add amounts in a	aluman (h.) lur	% %	tor boro	and an lu	na 21			S/L - 28						
		nes 25 through 27 Er			ne ZI,	page 1	L	26			20			
29 Add amounts in c	olumn (1), iin	e 26 Enter here and o			· · on II	se of	·		<u> </u>	•	29			
Complete this section		used by a sole propr	ietor, par	tner, or o	ther "n	nore th	an 5%	owner,"						
If you provided vehicles to	your employee	es, first answer the questic					exception							
30 Total business/in year (do not inclu		les driven during the ng miles)		a) icle 1	V ehi	b) cle 2	Ve	(c) hicle 3		d) cle 4	Vehi	e) cle 5		f) icle 6
31 Total commuting	mıles drıven	during the year .												
32 Total other perso	nal(noncomn	nuting) miles driven												
33 Total miles driver through 32	during the y	ear Add lines 30												
34 Was the vehicle a	vailable for p	personal use	Yes	No	Yes	No	Yes	No	Yes	No	Yes	No	Yes	No
during off-duty ho	urs? .													
35 Was the vehicle under or related p		y by a more than 5%												
36 Is another vehicle	e avaılable fo	or personal use? .												
Section Answer these question 5% owners or related	ns to determ	The state of the s											not mo	re tha
37 Do you maintain a employees?	written polic	cy statement that pro	hıbıts all	personal	use of	vehicl	es, inc	luding co	mmutii	ng, by	your · · ·	<u> </u>	'es	No
	•	cy statement that pro	•							•				
39 Do you treat all us	se of vehicle:	s by employees as pe	rsonal us	se?									$\neg \uparrow$	
40 Do you provide m vehicles, and reta		vehicles to your emp	loyees, o	btaın ınfo	rmatio	n from	your e	mployees	about	the us	se of			
41 Do you meet the r	eauirements	concerning qualified	automob	ıle demor	nstratio	n use?) (See	ınstructıc	ns)				-+	
•	•	39, 40, or 41 is "Yes,"					-		-					
	rtization			•										
(a) Description of c	costs	(b) Date amortization begins	A mort			C	(d) Code ection (e) A mortize period percent		ization	or Amor		(f) rtization for nis year		
42 A mortization of co	osts that beg	jins during your 2014	tax year	(see ins	tructio	ns)				_				
			-											
43 A mortization of co	osts that beg	an before your 2014	tax year						43					315
44 Total Add amoun	to in column	(f) Coothounstruction	ne for wh	oro to ro	nort				44					215

TY 2014 Accounting Fees Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
ACCOUNTING FEES	5,140	5,140	0	0

DLN: 93491198007055

Note: To capture the full content of this document, please select landscape mode (11" \times 8.5") when printing.

TY 2014 Amortization Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Description of Amortized Expenses	Date Acquired, Completed, or Expended	Amount Amortized	Deduction for Prior Years	Amortization Method	Current Year Amortization	Net Investment Income	Adjusted Net Income	Total Amount of Amortization
LEGAL ORGANIZAITONAL EXP	2012-12-05	4,719	394	15 0000	315			709

TY 2014 Other Assets Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Description	Beginning of Year - Book Value	End of Year - Book Value	End of Year - Fair Market Value
Net Intangible Assets	4,325	4,010	
Receivable - Unsettled Trades		24,196	24,196

TY 2014 Other Expenses Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
A mortization	315			
Bank Fees	266	266		

TY 2014 Other Income Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Description	Revenue And Expenses Per Books	Net Investment Income	Adjusted Net Income
K-1 Income - Oak Tree Cap	2,518	2,518	
Other Investment Income	968	968	

efile GRAPHIC print - DO NOT PROCESS As Filed Data - DLN: 93491198007055

TY 2014 Other Professional Fees Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
INVESTMENT ADVISORY FEES	267,600	267,600	0	0

TY 2014 Taxes Schedule

Name: Mitchell Family Foundation

EIN: 46-1311138

Software ID: 14000265

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
FEDERAL TAXES PAID	40,000			
FOREIGN TAXES PAID	3,940	3,940		



Account Number 61X-02124

YOUR EMA ASSETS

EQUITIES	Sumbal Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss) Ar	Estimated (
Description	Symbol Acquired	. <u> </u>							
ABBVIE INC SHS	ABBV 07/28/14	1,006	53 7100	54,032.26	65 4400	65,832 64	11,800 38	1,972	2 99
	07/29/14	3,000	53 5099	160,529 70	65 4400	196,320.00	35,790.30	5,880	2.99
	08/12/14	3,000	52,8569	158,5 70. 98	65,4400	196,320,00	37,749 02	5,880	2.99
	10/21/14	5,000	55 2660	276,330 00	65 4400	327,200.00	50,870,00	9,800	2 99
	12/18/14	2,000	67 3750	134,750 00	65 4400	130,880 00	(3,870.00)	3 920	2 99
Subtotal		14,006		784,212 94		916,552 64	132,339 70	27,452	2 99
ANALOG DI VICES INC. COM	ADI 12/31/13	6,000	50.9296	305,577 79	55.5200	333,120 00	27,542 21	8,880	2 66
	04/25/14	2,000	52 5000	105,000.00	55 5200	111,040 00	6,040 00	2,960	2 66
	10/15/14	3,000	44 1271	132,381.52	55 5200	166,560 00	34,178 48	4,440	2 66
Subtotal		11,000		542,959 31		610,720.00	67,760 69	16,280	266
ARES CAPITAL CORP	ARCC 06/03/13	20,000	17.0550	341,101 00	15 6050	312,100.00	(29,001 00)	30,401	9.74
	06/04/13	12,500	16 8999	211,249 54	15 6050	195,062 50	(16,187 04)	19,001	974
Subtotal		32,500		552,350 54		507,162.50	(45,188 04)	49,402	974
AT&T INC	1 10/17/14	15,000	33 7666	506,500 01	33.5900	503,850 00	(2,650 01)	28,200	5 59
	10/23/14	5,000	33 6150	168,075 00	33 5900	167,950 00	(125 00)	9,400	5 59
Subtotal	_	20,000		674,575 01		671,800.00	(2,775 01)	37,600	5 59
AVERY DENNIS <u>ON</u> CORP	AVY 10/23/14	11,000	44 3378	487,716 00	51 8800	570,680.00	82,964 00	15,400	2 69
BAE SYS PLC SPN ADR	BAESY 10/21/14	9,000	28 7025	258,323 00	29,1550	262,395.00	4,072 00	11,566	4 40



Account Number: 6TX-02124

24-Hour Assistance: (800) MERRILL

Access Code: 47-689-02124

YOUR EMA ASSETS

ue Gain/(Loss) / 92 6,471.92 90 6,276.00 98 4,195.08 90 16,943.00	5,300 2,496 2,605	2.83 2.83
00 6,276.00 08 4,195.08	2,496	2.83
08 4,195.08	•	
•	2,605	2 83
00 16,943.00		£.03
	10,401	2.83
97 (2,302.99)		
00 (1,762.53)		
00 (1,000.30)		
00 (1,726.29)		
97 (6,792.11)		
04 674.81	26	1,17
00 68,827.99	11,400	2.73
00 1,375.50	3,800	2.73
5,260.00	3,040	2.73
75,463.49	18,240	2.73
53,810.00	7,201	1.56
00 8,505.00	2,701	1.56
62,315.00	9,902	1.56
57 22,967.06	1,574	1.76
00 11,434.95	960	
00 11,264.40	1,281	1.76
<u>-</u>	-	
• • • • • • • • • • • • • • • • • • • •		
	00 (1,762.53) 00 (1,000.30) 00 (1,726.29) 97 (6,792.11) 04 674.81 00 68.827.99 00 1,375.50 00 5,260.00 00 75,463.49 00 53,810.00 00 8,505.00 00 62,315.00 57 22,967.06 11,434.95 00 11,264.40 00 4,690.20	00 (1,762.53) 00 (1,000.30) 00 (1,726.29) 97 (6,792.11) 04 674.81 26 00 68,827.99 11,400 00 1,375.50 3,800 00 5,260.00 3,040 00 75,463.49 18,240 00 53,810.00 7,201 00 8,505.00 2,701 00 62,315.00 9,902 57 22,967.06 1,574 00 11,434.95 960 00 11,264.40 1,281 00 4,690.20 1,921



Account Number: 6TX-02124

YOUR EMA ASSETS

EQUITIES (continued)			Unit	Total	Estimated	Estimated	Unrealized	Estimated	Curren
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Ar	nnual Income	Yield9
DU PONT E I DE NEMOURS	DD 02/10/14	2,000	63.5400	127,080.00	73.9400	147,880.00	20,800.00	3,760	2.54
	02/11/14	4,000	64.4332	257,733.02	73.9400	295,760.00	38,026.98	7,520	2.54
	02/18/14	1,000	65.0467	65,046.70	73.9400	73,940.00	8,893.30	1,880	2.54
	03/17/14	1,000	66.2969	66,296.90	73.9400	73,940.00	7,643.10	1,880	2.54
	05/15/14	1,000	66.8171	66,817.10	73.9400	73,940.00	7,122.90	1,880	2.54
	07/03/14	1,000	65.8667	65,866.70	73.9400	73,940.00	8,073.30	1,880	2.54
	07/07/14	1,000	65.3000	65,300.00	73.9400	73,940.00	8,640.00	1,880	2.54
Subtotal		11,000		714,140.42		813,340.00	99,199.58	20,680	2.54
EMERSON ELEC CO	EMR 12/11/12	59	51.6291	3,046.12	61.7300	3,642.07	595.95	111	3.04
	12/02/13	1,000	67.2200	67,220.00	61.7300	61,730.00	(5,490.00)	1,880	3.04
	01/16/14	4,400	69.7808	307,035.80	61.7300	271,612.00	(35,423.80)	8,272	3.04
	01/29/14	2,000	65.7471	131,494.27	61.7300	123,460.00	(8,034.27)	3,760	3.04
	02/03/14	1,000	64.8430	64,843.00	61.7300	61,730.00	(3,113.00)	1,880	3.04
	02/18/14	1,000	63.8560	63,856.00	61.7300	61,730.00	(2,126.00)	1,880	3.04
	06/02/14	1,000	67.2299	67,229.90	61.7300	61,730.00	(5,499.90)	1,880	3.04
	10/22/14	41	61.4200	2,518.22	61.7300	2,530.93	12.71	78	3.04
Subtotal	• • · · · · · · · · · · · · · · · · · ·	10,500		707,243.31		648,165.00	(59,078.31)	19,741	3.04
EXXON MOBIL CORP COM	XOM 12/19/12	3,582	89.3500	320,051.70	92.4500	331,155.90	11,104,20	9,887	2.98
	12/31/13	1,000	100.8241	100,824.10	92,4500	92,450.00	(8,374.10)	2,760	
	04/22/14	1,000	100.5100	100,510.00	92.4500	92,450.00	(8,060.00)	2,760	2.98
	08/12/14	1,000	98.4267	98,426.70	92.4500	92,450.00	(5,976.70)	2,760	2.98
	10/22/14	18	93.5700	1,684.26	92.4500	1,664.10	(20.16)	50	2.98
Subtotal		6,600		621,496.76		610,170.00	(11,326.76)	18,217	2.98
HALYARD HEALTH INC SHS	HYH 12/19/12	526	28.5173	15,000.10	45.4700	23,917.22	8,917.12		
	03/10/14	125	36.3051	4,538.14	45.4700	5,683.75	1,145.61		
	04/30/14	125	37,2733	4,659.17	45.4700	5,683.75	1,024.58		
Subtotal		776		24,197.41		35,284.72	11,087.31		



Account Number: 6TX-02124

24-Hour Assistance: (800) MERRILL

Access Code: 47-689-02124

YOUR EMA ASSETS

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss) Ar	Estimated (
HERSHEY COMPANY	HSY 10/17/14	3.800	91.2773	346,853.90	103.9300	394.934.00	48,080.10	8.133	2.05
HERSHET COM AN	10/21/14	1,000	94.4099	94,409.90	103.9300	103,930.00	9,520.10	2,141	2.05
	10/29/14	2,500	92.8962	232,240.70	103.9300	259,825.00	27,584.30	5,351	2.05
Subtotal	V-1	7,300		673,504.50		758,689.00	85,184.50	15,625	2.05
HOME DEPOT INC	HD 10/17/14	2,000	89.5599	179,119.80	104.9700	209,940.00	30,820.20	3,761	1.79
	12/18/14	1,000	99.7100	99,710.00	104.9700	104,970.00	5,260.00	1,881	1.79
Subtotal		3,000		278,829.80		314,910.00	36,080.20	5,642	1.79
HONEYWELL INTL INC DEL	HON 07/02/13	4,500	78.4686	353,109.00	99.9200	449,640.00	96,531.00	9,316	2.07
	07/08/13	1,000	80.6626	80,662.60	99.9200	99,920.00	19,257.40	2,071	2.07
	08/12/14	1,000	92.8938	92,893.80	99.9200	99,920.00	7,026.20	2,071	2.07
Subtotal		6,500		526,665.40		649,480.00	122,814.60	13,458	2.07
JOHNSON AND JOHNSON COM	JNJ 01/14/14	2,810	94,6997	266,106.16	104.5700	293,841.70	27,735.54	7,868	2.67
	02/11/14	1,000	92.5575	92,557.50	104.5700	104,570.00	12,012.50	2,800	2.67
	04/22/14	2,000	100.2500	200,500.00	104.5700	209,140.00	8,640.00	5,600	2.67
	06/02/14	1,000	102.0199	102,019.90	104.5700	104,570.00	2,550.10	2,800	2.67
	10/17/14	2,000	98.5680	197,136.00	104.5700	209,140.00	12,004.00	5,600	2.67
	10/22/14	90	101.2197	9,109.78	104.5700	9,411.30	301.52	252	2.67
	12/17/14	2,000	104.1099	208,219.80	104.5700	209,140.00	920.20	5,600	2.67
Subtotal		10,900		1,075,649.14		1,139,813.00	64,163.86	30,520	2.67
KIMBERLY CLARK	KMB 12/19/12	4,200	82.2853	345,598.41	115.5400	485,268.00	139,669.59	14,113	2.90
	03/10/14	1,000	104.7569	104,756.92	115.5400	115,540.00	10,783.08	3,361	2.90
	04/30/14	1,000	107.5507	107,550.72	115.5400	115,540.00	7,989.28	3,361	2.90
Subtotal		6,200		557,906.05		716,348.00	158,441.95	20,835	2.90
KINDER MORGAN INC. DEL	KMI 09/08/14	3,000	39.0100	117,030.00	42.3100	126,930.00	9,900.00	5,281	4.15
	09/12/14	4,000	38.0100	152,040.00	42.3100	169,240.00	17,200.00	7,041	4.15
	10/10/14	4,000	36.9100	147,640.00	42.3100	169,240.00	21,600.00	7,041	4.15
	12/18/14	3,000	39.9172	119,751.60	42.3100	126,930.00	7,178.40	5,281	4.15
Subtotal		14,000		536,461.60		592,340.00	55,878.40	24,644	4.15



Account Number: 6TX-02124

YOUR EMA ASSETS

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss) An	Estimated (
KRAFT FOODS GROUP INC	KRFT 02/11/14	700	53.3199						
SHS	02/18/14	1,500	54.3094	37,323.94 81,464.10	62.6600	43,862.00	6,538.06	1,540	3.51
3/13	04/22/14	1,000	56.2320	56,232.00	62.6600	93,990.00	12,525.90	3,300	3.51
	08/12/14				62.6600	62,660.00	6,428.00	2,200	3.51
Subtotal	06/12/14	2,000	56.1285	112,257.00	62.6600	125,320.00	13,063.00	4,400	3.51
		5,200		287,277.04		325,832.00	38,554.96	11,440	3.51
MCDONALDS CORP COM	MCD 12/11/12	4,371	89.2980	390,321.56	93.7000	409,562.70	19,241.14	14,862	3.62
	11/27/13	1,000	97.0800	97,080.00	93.7000	93,700.00	(3,380.00)	3,400	3.62
	02/11/14	3,000	95.4600	286,380.00	93.7000	281,100.00	(5,280.00)	10,200	3.62
Subtotal		8,371		773,781.56		784,362.70	10,581.14	28,462	3.62
MEDTRONIC INC COM	MDT 01/09/14	5,000	59.2171	296,085.78	72.2000	361,000.00	64,914.22	6,101	1.68
	01/09/14	2,500	59.4050	148,512.67	72.2000	180,500.00	31,987.33	3,051	1.68
	10/17/14	2,000	62.3794	124,758.81	72.2000	144,400.00	19,641.19	2,441	1.68
Subtotal		9,500		569,357.26		685,900.00	116,542.74	11,593	1.68
METLIFE INC COM	MET 11/04/13	5,000	47.9900	239,950.00	54.0900	270,450.00	30,500.00	7,001	2.58
	11/22/13	1,500	52.9333	79,400.00	54.0900	81,135.00	1,735.00	2,101	2.58
	02/07/14	2,000	48.9492	97,898.40	54.0900	108,180.00	10,281.60	2,801	2.58
	08/12/14	1,000	52.0655	52,065.50	54.0900	54,090.00	2,024.50	1,401	2.58
	09/05/14	1,500	55.1699	82,754.85	54.0900	81,135.00	(1,619.85)	2,101	2.58
	10/10/14	1,000	50.0767	50,076.70	54.0900	54,090.00	4,013.30	1,401	2.58
	10/15/14	3,000	47.6999	143,099.70	54.0900	162,270.00	19,170.30	4,201	2.58
	10/23/14	3,000	50.5000	151,500.00	54.0900	162,270.00	10,770.00	4,201	2.58
Subtotal		18,000		896,745.15		973,620.00	76,874.85	25,208	2.58
MICROSOFT CORP	MSFT 07/29/14	598	43.9667	26,292.09	46.4500	27,777,10	1,485.01	742	2.66
	08/11/14	1,500	43.1772	64,765.80	46.4500	69,675.00	4,909.20	1,860	2.66
	08/18/14	2,000	44.9873	89,974.60	46.4500	92,900.00	2,925.40	2,480	2.66
	10/02/14	2,000	45.9675	91,935.00	46.4500	92,900.00	965.00	2,480	2.66
	10/15/14	1,000	43.1268	43,126.80	46.4500	46,450.00	3,323.20	1,240	2.66
	11/26/14	5,000	47.3100	236,550.00	46.4500	232,250.00	(4,300.00)	6,200	2.66
Subtotal		12,098		552,644.29		561,952.10	9,307.81	15,002	2.66



Account Number 6TX-02124

24-Hour Assistance: (800) MERRILL Access Code 47-689-02124

YOUR EMA ASSETS

EQUITIES (continued) Description	Symbol Acquired	Quantity	— — Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	- Unrealized Gain/(Loss) Ar	- — Estimated C apual Income	
NUCOR CORPORATION	NUE 12/27/13	3.000	53 8780	161,634 19	49 0500	147,150 00	(14,484 19)	4,470	3 03
MUCON CONTON	01/30/14	2,000	48 5696	97.139 24	49 0500	98.100 00	960 76	2,980	3 03
	06/02/14	1,000	50 3999	50,399 90	49 0500	49.050 00	(1,349 90)	1,490	3 03
	10/15/14	1,000	49 0224	49.022.40	49 0500	49,050 00	27 60	1,490	3 03
	10/17/14	1.000	50 4421	50,442.10	49 0500	49,050 00	(1,392 10)	1,490	3 03
Subtotal _		8,000	_	408,637.83	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	392,400.00	(16.237 83)	11,920	3 03
OAKTREE CAP GROUP LLC	OAK 11/04/14	5,000	46 5500	232,750 00	51 8300	259,150.00	26,400 00	15,751	6 07
CLASS A UNITS	11/07/14	3,000	46 6879	140,063 70	51 8300	155,490.00	15,426 30	9,451	6 07
Subtotal	* 1	8,000	_	372,813 70	_	414,640 00	41,826 30	25,202	6 07
OCCIDENTAL PETE CORP CAL	OXY 12/11/12	5,119	73.5015	376,254 57	80 6100	412,642 59	36,388 02	14,743	3 57
	02/06/14	2,000	85 4446	170,889.26	80 6100	161,220 00	(9,669 26)	5,761	3,57
	02/11/14	1,000	88 7412	88,741.26	80 6100	80,610 00	(8,131 26)	2,881	3 57
	10/31/14	2,000	84 9427	169,885.50	80 6100	161,220 00	(8,665 50)	5,761	3 57
Subtotal		10,119		805,770 59		815,692.59	9,922 00	29,146	3 57
PATTERSON COS INC	PDC0 07/24/13	2,500	40 1000	100,250 00	48 1000	120,250 00	20,000 00	2,000	166
	11/21/13	1,500	42 2500	63,375 00	48,1000	72,150 00	8,775 00	1,200	1.66
	12/31/13	1,000	41 2799	41,279 99	48 1000	48,100.00	6,820 01	800	1 66
	06/02/14	3,174	39 1457	124,248 62	48 1000	152,669 40	28,420 78	2,540	7 66
	07/22/14	2,000	39 6281	79,256.23	48 1000	96,200 00	16,943 77	1,600	1 66
	10/10/14	2,000	40 9900	81,980 00	48 1000	96,200 00	14,220 00	1,600	1 66
	10/17/14	3,000	39 9000	119,700 00	48 1000	144,300 0 0	24,600 00	2,400	166
	11/25/14	26	47 3800	1,231.88	48 1000	1,250 60	18 72	21	1 66
Subtotal		15,200		611,321 72		731,120.00	119,798 28	12,161	1 66
PAYCHEX INC	PAYX 0G/27/13	5,893	36 9179	217,557 56	46.1700	272,079.81	54,522.25	8,958	3 29
	12/31/13	2,000	45 6391	91,278 20	46 1700	92,340 00	1,061 80	3,041	3,29
	01/14/14	3,578	43 8397	156,858 45	46 1 / 00	165,196 26	8 337 81	5,439	3 29
	02/11/14	3,000	41 0999	123,299 70	46,1700	138,510 00	15,210 30	4,561	3.29
Subtotal		14,471		588 993 91		668,126.07	79 132 1 <u>6</u>	21,999	3 2 9



Account Number: 6TX-02124

YOUR EMA ASSETS

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Esumated Market Value	Unrealized Gain/(Loss) Ar	Estimated (
PROCTER & GAMBLE CO	PG 01/14/14	6,243	80.7599	504,184.06	91.0900	568,674.87	64,490.81	16,070	2.82
	02/11/14	2,000	79.0122	158,024.40	91.0900	182,180.00	24,155.60	5,149	2.82
	02/12/14	1,000	78.0420	78,042.00	91.0900	91,090.00	13,048.00	2,575	2.82
Subtotal		9,243		740,250.46		841,944.87	101,694.41	23,794	2.82
QUALCOMM INC	QCOM 12/17/14	1,500	71.7279	107,591.85	74.3300	111,495.00	3,903.15	2,521	2.26
QUEST DIAGNOSTICS INC	DGX 09/18/14	4,000	63.2200	252,880.00	67.0600	268,240.00	15,360.00	5,281	1.96
	10/02/14	4,000	60.6500	242,600.00	67.0600	268,240.00	25,640.00	5,281	1.96
	10/10/14	3,500	58.6694	205,343.00	67.0600	234,710.00	29,367.00	4,621	1.96
Subtotal		11,500		700,823.00		771,190.00	70,367.00	15,183	1.96
UNITED TECHS CORP COM	UTX 12/11/12	3	81.2600	243.78	115.0000	345.00	101.22	8	2.05
	11/19/13	1,000	109.2325	109,232.50	115.0000	115,000.00	5,767.50	2,361	2.05
	11/22/13	1,000	109.5200	109,520.00	115.0000	115,000.00	5,480.00	2,361	2.05
	12/31/13	1,000	113.4269	113,426.97	115.0000	115,000.00	1,573.03	2,361	2.05
	01/14/14	1,464	112.4634	164,646.56	115.0000	168,360.00	3,713.44	3,456	2.05
	01/30/14	1,000	114.7663	114,766.36	115.0000	115,000.00	233.64	2,361	2.05
	11/28/14	1,000	110.5280	110,528.00	115.0000	115,000.00	4,472.00	2,361	2.05
	12/17/14	1,000	113.3599	113,359.90	115.0000	115,000.00	1,640.10	2,361	2.05
Subtotal		7,467		835,724.07		858,705.00	22,980.93	17,630	2.05
WAL-MART STORES INC	WMT 12/11/12	392	72.2969	28,340.42	85.8800	33,664.96	5,324.54	753	2.23
	01/14/14	1,067	77.8465	83,062.22	85.8800	91,633.96	8,571.74	2,049	2.23
	06/02/14	1,000	76.8299	76,829.90	85.8800	85,880.00	9,050.10	1,921	2.23
	10/23/14	41	76.2500	3,126.25	85.8800	3,521.08	394.83	79	2.23
	10/31/14	2,000	76.8199	153,639.80	85.8800	171,760.00	18,120.20	3,841	2.23
	12/09/14	1,000	82.9799	82,979.90	85.8800	85,880.00	2,900.10	1,921	2.23
	12/10/14	2,000	83.3186	166,637.30	85.8800	171,760.00	5,122.70	3,841	2.23
	12/17/14	2,500	83.6347	209,086.85	85.8800	214,700.00	5,613.15	4,801	2.23
Subtotal		10,000		803,702.64		858,800.00	55,097.36	19,206	2.23
YUM BRANDS INC	YUM 12/23/14	9,800	72.7642	713,089.63	72.8500	713,930.00	840.37	16,072	2.25

Account Number 61X-02124

24-Hour Assistance: (800) MERRILL Access Code 47-689 02124

YOUR EMA ASSETS

November 29, 2014 - December 31, 2014

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Lstimated Market Value	Unrealized Gain/(Loss) Ai	Estimated C anual Income	
ZURICH INSURANCE GROUP	ZURVY 10/22/14	5,000	29 1800	145,900 00	31.2000	156,000.00	10,100.00		
AG SHS SPON ADR	10/23/14	2,000	29 4987	58,997 48	31,2000	62,400,00	3,402 52		
	10/31/14	1,000	30 1500	30,150 00	31 2000	31,200 00	1,050 00		
Subtotal		8,000		235,047 48		249,600.00	14,55 <u>2</u> 52	_	
3M COMPANY	MMM 07/31/13	74	117 4224	8,689.26	164 3200	12,159 68	3,470.42	304	2 49
	11/22/13	1,000	130 0000	130,000,00	164 3200	164,320 00	34,320.00	4,100	2 49
	12/03/13	1,500	125,9699	188,954 85	164 3200	246,480 00	57,525 15	6,150	2.49
	12/03/13	1 000	125 3400	125,340 00	164 3200	164,320 00	38,980 00	4,100	2.49
	12/16/13	800	127 7465	102,197 20	164 3200	131,456 00	29,258 80	3,280	2 49
	01/14/14	1,303	136 7334	178,163.75	164 3200	214,108 96	35,945 21	5,343	2 49
	12/17/14	1 000	158 7733	158,773 30	164 3200	164,320 00	5,546 70	4,100	2 49
Subtotal		6,677		892,118 36		1,097,164 64	205,046 28	27,377	2 49
TOTAL	_			21,729,270 51		23,690,634.41	1,961,363 90	685,283	2 89

Oaktree Capital - basis adj from K-1

<582 00>

21,728,688 51



Account Number, 6TX-02124

24-Hour Assistance. (800) MERRILL Access Code 47-689-02124

November 29, 2014 - December 31, 2014

YOUR EMA ASSETS

MUTUAL FUNDS/CLOSED END FUNDS/ Description	יוט' Quantity	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss)	Total Client Investment	Cumulative Investment Return (\$)	Estimated Annual (Income	
ALPS ALERIAN MLP ETF SYMBOL AMLP Initial Purcha Equity 100%	283,100 ase 12/11/12 	4,327,146 41	17 ⁻ 5200	4,959,912.00	632,765 59	4,327,146	632,765	319,905	6 44
CALAMOS MARKET NEUTRAL INCOME FD CL I SYMBOL CMINIX Initial Purcha Alternative Investments 100.4	190,413 use 12/19/14	1,288,712 10	12 8200	1,287,294.66	(1,417 44)	1,288,712	(1,417)	15,564	1 20
8550 Fractional Share	-	10 97	12 8200	10 96	(0 (01)			7	1 20
CONSUMER DISCRETIONARY SPDR SYMBOL XLY Initral Purcha Equity 100%	3,000 ase 12/17/14	206,039.70	72 1500	216,450.00	10,410 30	206,039	10,410	2,823	1 30

+



Account Number: 6TX-02124

YOUR EMA ASSETS

MUTUAL FUNDS/CLOSED END FUNDS/UIT Description	(continued) Quantity	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss)	Total Client Investment	Cumulative Investment Return (\$)	Estimated Annual C Income	
EATON VANCE ATLANTA CAPITAL SMID CAP FD CL I SYMBOL: EISMX Initial Purchase: 1 Equity 100%	104,953 12/11/12	2,188,582.82	25.2000	2,644,815.60	456,232.78	2,188,582	456,232		
.3050 Fractional Share		7.18	25.2000	7.69	.51				
GOLDMAN SACHS STRATEGIC INCOME FUND CL I SYMBOL: GSZIX Initial Purchase: (Alternative Investments 100%	273,382 07/30/13	2,894,673.52	10.2800	2,810,366.96	(84,306.56)	2,894,673	(84,306)	73,801	2.62
.0650 Fractional Share		0 69	10.2800	.67	(0.02)			1	2.62
SPDR S&P 500 ETF TRUST SYMBOL: SPY Initial Purchase: Equity 100%	3,500 12/03/14	723,748.95 +	205.5400	719,390.00	(4,358.95)	723,748	(4,358)	13,423	1.86
THORNBURG INTERNATIONAL GROWTH FUND CL I SYMBOL: TINGX Initial Purchase: Equity 100%	115,000 12/11/12	2,011,560.01	18.4300	2,119,450.00	107,889.99	2,011,560	107,889	8,266	.39
VANGUARD INTERMEDIATE TERM BOND ETF SYMBOL: BIV Initial Purchase:	57,304 12/11/12	5,048,964.77	84.6800	4,852,502.72	(196,462.05)	5,048,964	(196,462)	137,700	2.83
Fixed Income 100%									
WISDOMTREE TRUST JAPAN HEDGED EQUITY FD	2,000	98,784.60	49.2300	98,460.00	(324.60)	98,784	(324)	1,880	1.90
SYMBOL: DXJ Initial Purchase: Equity 100%	07/31/13								

Account Number 61X-02124

24-Hour Assistance: (800) MERRILL

Access Code. 47-689-02124

YOUR EMA ASSETS

November 29, 2014 - December 31, 2014

MUTUAL FUNDS/CLOSED END FUNDS/UIT Description	(continued) Quantity	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss)	Total Chent Investment	Cumulative Investment Return (\$)	Estimated Annual (Income	
Subtotal (Lixed Income)				4,852,502 72					
Subtotal (Equities)				10,758,485.29					
Subtotal (Alternative Investments)			4,097,673 25					
TOTAL		18,788,231 72		19,708,661.26	920,429 54		920,429	573,364	2 9 1

Basis Reduction -

ALPS Alerian

Return of Capital <110,684.28>

Total reported on B/S 18,677,547.44